Geometry H Name:

Section 4.6 CPCTC Homework Date : Period :

Using the given information in the diagrams below, please solve for x and y.

1. AABC =AFED 2. AXYW =APYQ
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3. Given: AC 1 BD and Cis midpoint of BD
Prove: AABD is isosceles
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4. Complete the following proof.

Given: ZXYW = /ZZWY,
ZWXY = /YZW

Prove: WX | ZY

5. Complete the proof.

Given: ZEDC = /ECD, ZADE = /BCE

Prove: /DAE=_/CBE

A B

6. Complete the proof.
Given: AB||CD, AB=CD

Prove: B_C = D_A

Statements Reasons
1.
2.
3.
4. AXYW = AZWY
5. ZXWY = 22YW
6. WX|zy
Statements Reasons
1.
2.
3.
4.
5. AAED =A\BEC
6. ZDAE = /CBE
Statements Reasons
1. AB|CD
2.
3. AB=(D
4.
5. AABC=ACDA
6. BC=DA




7. Complete the proof.
Given: W(EV!T(, ZX bisects LYXW

Prove: E = WZ

X

8. Complete the proof.

Given: LA1=/2, /4=/5

Prove: I?L = I\7L

Statements Reasons

1. 1.

2. 2.

3. 3.

4, 4.

5. AYXZ=AWXZ 5.

6. YZ=WZ 6.
Statements Reasons
1. A1=/2 1.

2. LA1=/3 2.
3. L2=/3 3.
4. 4,
5. 5.
6. AKIL=AMIL 6.
7. KL=ML 7.




Answer Key:

1) x =60,y = 66 2)x=2,y=24
3)
Statements Reasons
1. AC LBD 1. Given
2. 2ACB and <ACD are right angles 2. Def. of perpendicular lines
3. AACB and AACD are right triangles | 3. Def. of right triangles
4. Cisthe midpoint of BD 4. Given
5. BC =DC 5. Def. of midpoint
6. AC = AC 6. Reflexive Property
7. AACB = AACD 7. SAS
8. <ABC =,ADC 8. CPCTC
9. AABD is isosceles 9. Def. of Isosceles Triangle

Statements Reasons
1. XYW = ZWY 1. Given
2. WXY = XYIW 2. Given
3. WY = WY 3. Reflexive Property
4. AXYW = AZWY 4. AAS
5. ZAXWY = /2Zyw 5. CPCTC
6. WX ”ﬂ 6. Alt. Int. Angles Converse
Statements Reasons

1. 2EDC = «ECD

1. Given

2. DE = CE 2. Base Angles Converse
3. ZADE = BCE 3. Given

4. /AED = BEC 4. VAT

5. AAED =\BEC 5. ASA

6. ZDAE=/CBE 6. CPCTC




Statements

Reasons

1. AB|CD

1. Given

2. 4BAE = ADCE

2. Alt. Int. Angles Theorem

3. AB=CD 3. Given
4.AC = AC 4. Reflexive Property
5. AMABC=ACDA 5. SAS
6. BC~DA 6. CPCTC
7)
_ St_atements Reasons
1. YX=WX 1. Given
2. ZX bisects LY XW 2. Given
3. XYXZ = WXZ 3. Def. of Angle Bisector
4. X7 = XZ 4. Reflexive Property
5. AYXZ=AWXZ 5. SAS
6. YZ=WZ 6. CPCTC
8)
Statements Reasons
2. A= 1. Given
2. AA=./3 2. VAT
3. L12=/3 3. Transitive Property
4, /4=/5 4. Given
5. JL=~JL 5. Reflexive Property
6. AKIL=AMIJL 6. ASA
7 KL=ML 7. CPCTC




